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1. The statement “Other things being equal, it is bet-
ter to suffer a little inflation than a lot of unemploy-
ment” is an example of positive economic analysis.

2. A pure monopolist sets price and cutput so that
it always operates on the inelastic portion of iis
straight-line demand curve when in equilibrium.

3. Assume that labor and capital are complements in
the production process, If the price of capital rises,
we can conclude that the demand for labor shift to
the left.

4. When employed by a monopsony, a worker receives
@ wage that is greater than the worker’s marginal
revenue preduct.

5. Under perfect competition, the price and marginal
cost are the same for all levels of output.
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1. Which of the following wonld be an expected out-
come of & minimum wage law?

(a) Employers would receive accurate information
about the relative opportunity costs of using
skilled versus unskilled labor.

(b) The distribution of income between skilied and
unskilled would be altered.

{c) Workers whose skills are worth less than the
minimum wage will be hired.

(d) All of the above.

(e) None of the above.
2. A market demand curve shows:

(8) what price will prevail in the marketplace.

{b} how much of a commodity will be purchased
in a given period at various prices.

(c) the rate at which consumption of a commodity
will increase as income goes up.
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(<) the mininum price consumers will have to pay
to get a certain quantity of a good.

{e) All of the above.

3. Which of the following will not cause a shift in the
demand curve for good X7

(a) A change in the price of a complementary
good,
{b) A chatige in the price of good X.

(¢) A change in consumer preference from good X
to good Y.

(d) An increase in consumer income if good X is
a normal good.

(e) None of the above.

‘4, Assuming that 'w'uhea.t and corn ¢an both be grown

on the same type of land, a decrease in the price of
corn, other things being equal, will cause:
(a) a rightwa-rd shift the supply curve for corn.

(b) an upward movement along the supply curve
for wheat.

(c} arightward shift in the supply curve for wheat.
(d) a leftward shift in the supply curve for wheat.
{e) None of the above,
5. 1f the marginal cost curve is above the nverage tutal
cost curve, the average total cost curve must have
a slope that is:
(a} negétive.
(b} positive.
(c) constant.
{d) first positive, then negative.

{e) first negative, then positive.
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1. Suppose:-tha_t“la- consumer 'has a .utility. function
u(za,x5) = rix3. He originally faces prices (1,1)
.and has inceme 100.. Then the price of good A -

crease to 2. B T S
; i | H

. -(8). What is the compensating variation? -
(b) What is the equivalent variation? -
2. Suppose tlllaﬁ'é;ﬁp'ilin.‘c'lﬁsﬁ‘ff consists’ of 't:wtla firms A
”. and' B witl-supply functions S ({p) = p ~ 10 and
Sulp) = p — 15, respectively. Theh at what price
. does the industry supply curve have a kink in it?

3. Suppose there are n identica'llﬁi_rn-lé.'iﬁlﬁ Cournot

equilibrium. Show that the elasticity of the market
g / . .flemand curve must be greater than i/n. .- - .
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1. What is the autonomous 'expe'm'i'iture multiplier?
- How'does it work? :

2. What is the pa.radox of shr:ft'? And why is it a
paradox?

3. What is the essential dlﬁ'erence between the crude
and modern versions of the quantlty theory of

. money?.. Explain and show that the crude quan-
tity theory is a'special case of the moderri quantity
theory.

4. How does the level of aggregate output affect the
rate of inflation? 'What relationship.de you expect
between the level of aggregate output and the rate

of inflation?

5. Explain the theory of rational expectations.
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